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We will use the two charts given below to find out about the value of agricultural output in A, where Hiroshi lives.
The bar graph shows the value of agricultural production every 10 years since 1970.
The pie chart shows the percentage of agricultural production value by type of year1970 and 2000.
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As shown above, the production values and percentages represented in the bar and pie charts are labeled with symbols
from ‘Aa’ to ’Ko’.
To find the value of vegetable production of the year 2000 in town A, which of the following items from ‘Aa’to Ko’ in the

data is necessary? Choose two and write their symbols.

(1)Let’s think about rice production next.
Hiroshi said the following regarding the production value of rice in 1970 and 2000 of Town A.
So what Hiroshi-san is saying correct? Let’s Circle either "correct" or "incorrect". Also, write the reason for this using words

or formulas.
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Since the percentage of rice has decreased from 60% to 40%, the rice production has decreased.

"correct" "incorrect"

The reason

The production value of rice is calculated by multiplying the value of agricultural production by the percentage of rice
production, so in order to compare the production value of rice, we need to consider not only the percentage of rice production
but also the value of agricultural production.

In addition, the production value of rice has increased from 1.2 billion yen to 2 billion yen.

So, what Hiroshi is saying is not correct.



